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1. What is the value of the expression (23)(43)(2™%)?

A 32
B. 48
C. 64
D. 128

2. Which is equivalent to 10 x 10% x 10° _
10° '
A 1022
B. 1p-!
C. 103
D. 1p4

3. Which value represents the square root of the number of squares in the array below?

20
25

oo w>
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4. Which expression could represent the value of x in the equation below?

x3=2
A2

3
B. 23
c. ¥z
D. 2°3

5. Mercury is about 3.6 x 107 miles from the Sun. Venus is about 6.7 x 107
miles from the Sun. About how many times farther is Venus from the Sun
than Mercury?

A 1.5
B. 2
C. 2.5
D. 3

6. The number of fish in Lake Bass is about 1.2 X 106. The number of fish in
Lake Simon is about 6 x 10~. How much larger is the number of fish in
Lake Bass than the number of fish in Lake Simon?

A 2 times larger
B. 20 times larger

C. 200 times larger

7. The Sun’s mass is about 333,000 times the Earth’s mass. What is 333,000 expressed in scientific notation?

A 333 x10°
B- 333x10*
€ 333x10°
D. 333 x 108
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8. Which is equivalent to (7 x 10_2)(0.03)?

A 2.1 x 1074
B 2.1 x 1073
c 2.1 x 103
D. 2.1 x 107

9. If the two legs of a right triangle measure 5 inches and 9 inches, what is the length of the hypotenuse?
A 7 inches

Minches

B
C. flgﬁinches
D. 106 inches

10. Triangle ABC has vertices located at A(6, 8), B(3, 2), and C(3, 8) on the coordinate grid.
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Which equation could be used to show thata2+ 52:(:2?

; 12
* (3—2}2+(ﬁ—3)2=[J(3—2)2+(5—3)2]
B 8-22+ 63 =B -2+ (63
_ ; \2
° (3—2)+(5—3)=[J(3—2)2+(5—3)2]
D. :

(3—2)+(6—3):«J(8—2}2+{5—3)2’
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11. Which expression represents the volume of the cylinder in cubic inches?

18 in.

O o w >

12. A company makes a cone-shape
area of its base is about 78.8 in.

the

A 3,546 in.
B. 1,182 in.
C. 394 in.
D. 94 in.

13. Which fraction is equivalent to 0,45 ?

-

Ex18xax
T 65 % 18
6x 188 %7

2rxb6x 18

container?
3

3
3
3

container with a height of 15 in. The
Approximately what is the volume of

A 9
20

B. 5
11

c. 4
]

D.
5
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14. Which number in the list is an irrational number?

Igz ~133 .15, 152
A 152
c. =
4
D .f15

15. Which set contains all irrational numbers?

S m 45

B. 5 .
Y \/3.0.3
C.
,;
0, —, 1.914
4
D. ]
- 245, /25
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